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0.000 0.001 0.001 0.000 0.000 ( )
oo e [ u | | —
0'003 0'003 0'003 0'003 0'003 : (ppm)| 0.001 » | 0.000008 | 0.001008 | 0.02
- - - - - 0,04 0.06 (ppm)| 0.005 » | 0.000016 | 0.005016 | 0.03
(N0, ppm 0.004 0.005 0.004 0.004 0.005 : :
2 1
s — — s — (/) 0.022 0.000004 | 0.022004 | 0.049
0.038 0.011 0.031 0.018 0.025 - 0.033 2 | 0.000004 | 0.033004 0.6
(P g/ 0.066 0.014 0.061 0.035 0.066 0.10 (pgl‘ /) -
0.272 0.029 0.094 0.064 0.272 0.20 2; ( )
<0.001 <0.001 <0.001 <0.001 <0.001 | o, »
(HCL)  ppm <0.001 <0.001 <0.001 <0.001 <0.001 ’
pg-TEQ/m? 0.012 0.079 0.023 0.016 0.033 0.6
1)
2)
13
(ppm) 0.0011 0.1
(ppm) 0.0027 0.2
(mg/m?) 0.0005 0.20
(ppm) 0.0024 0.02
0.001
2% 0.003 0.04
SO m
(50) pp 0.019 0.1
0.005
98% 0.010 0.04 0.06
NO m
(NO,) pp 0.032
0.022
(SPM)  mg/n? 2% 0.045 0.10
0.392 0.20
13 0.045 0.6
pg-TEQ/m® 14 0.022 .
NO, 0.00001 0.00003ppm SPM
RAEE % 0.00001mg/m?
______ LYRE m/s
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30
43.6 55
37.4 45
41.6 55
50.0 45
30
30
30
30
B
60.2 60.8 31 30
62.6 62.2 65 30 30 65
64.9 65.0 36 35
63.2 63.4 30 30

30

35
45.9 55
43.4 45
30
30
0.3 1.5
35
727 41.5
72.7 85
41.5 I6)




(A )
o) 7.0 7.3 7.1 7.4 7.1 7.4 6.5 8.5
(80D) mg/L 0.5 1.7 0.5 1.6 0.8 1.5 2
(coD) mg/L 1.1 2.8 1.0 2.2 1.8 2.0
(00) mg/L 13 9.2 13 9.3 13 8.9 7.5
(s5) mg/L 0.7 8.8 0.5 5.9 4.4 6.0 25
mg/L 0.5 0.5 0.5 0.5 0.5 0.5
MPN/100ml 140 130,000 130 24,000 40 2,400 1,000
(T-N) mg/L 0.14 0.21 0.20 0.15 0.25 0.18
(T1-P) mg/L 0.01 0.02 0.01 0.02 0.01 0.01
pg-TEQ/L 0.089 0.084 0.084 1
10 10
22
10 10
10 11
1.5 3.6pg-TEQ/g
1.5pg-TEQ/
Pg-TEQ/g 1,000pg-TEQ/g
3.6pg-TEQ/g
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